Y3U 7 RINARER « EMANRSPILI—R
FEAIE—USH>YS U ASEA(EFZ>C)

(BE2{K] (¥IEAE) 20,790M

1@ 27,500/

5[E|0—-X 204,050M — 116,870 (1[E 23,374M)
10E3I—X  408,100M — 220,000/ (1[@ 22,000M)

[(AT>3>] J«JLF—EN 1B 7,700
vy3uy
(Bt /O U /B /B9 TF] (¥E#E) 15,180H
1@ 16,500
5EI—X 141,350 — 70,120/ (1@ 14,024M)
10E3I—2Z  165,000” — 121,000 (1[E 12,100M)
(B/F0H]
1E 9,900
5EI—X 70,950 — 41,250 (1@ 8,250M)
10EJ—X 99,000 — 63,250 (1E 6,325M)
wvy3y
[BaziK] (#El#se) 18,480H
1@ 22,000
5EI—X 168,850/ — 93,500/ (1@ 18,700M)

EJDI XA -FaRI—X
EJr—Z20-TL U MORL—232(EY S C+ RSRFTLE)

[EasK] (ERsE) 21,1208

1@ 39,0504

5EJ—X 195,250 — 153,010M™ (1@ 30,602M)
10E—X 390,500/ — 280,720/ (1@ 28,072M)
(f¥E - & - F ) (MERL) 15,2908

108 28,6004

5EI—X 143,000 — 113,850M (1@ 22,770F)
10EJ—X 286,000 — 210,100f (1@ 21,010M)

[(AT>3>] BEadI5533F)L 27,5008

[(AT>3>] Ja—>3> 27,500
E3I302aF)/IJai—>3a>

(#0[=1) 32,780M

1[9] 53,130H
5EJ—-X 265,650 — 184,800 (1@ 36,960M)
10EJ—X 531,300M — 339,570 (1[E 33,957M)

EJXRY MESZED)

1 c M=K 5,500

lcmi~2cm 11,000M 3cm~4cm 33,000
2cmi~3cm 22,0008 4cmi~5cm  44,000M™
BD & 88,000M

(AT>3>) J>%0 K2 x)L 3,300H

—FEiamEE

~<N—NRO> (28%E) 3,080H
O7Fa74A> ((YRLFIA>) (30AT7wL) 19,800
B0/ 5% ~> 50mg(285ik) BA18E 1,540/
100mg(56%88) EA1EES 15E 3,080/

150mg(84%E) FH2EES 18 4,620H

200mg(11288) BA28E4 246E 6,160M

MEARE 2,750/

I—bhOZYO%A - BaRI—X
L=t = h==> 04— FOE— LT MR —S 3 S(EF S > C+ NSRFTLE)

(BE2K/OUTF/BHhL/AHT] (WEMsE) 15,6200

1[E] 33,550MH

5ET3—-X 167,750M — 125,510 (1E 25,102M)
10E0—-X 335,500H — 226,820/ (1@ 22,682M)
M8/ B/ FDR) (MERL) 9,790M

1[E] 23,100MH

5ME3—-X 115,500 — 86,350 (1@ 17,270M)
10E0—X 231,000 — 155,100 (1[E 15,510M)

ATSa> ARIKRSE-IL
XENROHE, BIH - ZFE -

AF>a> L—Y—-k—=>9
XETHE - BFLEDBRE(10x 10mDEEHE)

1[5] 9,680M FROSER - LA, J\U - fLESE
A723> J—bOE—-IL (BES K] 1@ 11,000M
XEH - Ld - BD5 - BOSHE (2+38] 1@  9,460M
(ZE2{K] 1O 11,000 (WE%E] 1@  8,800M
(MmE] 1@ 8,800/ (2] 1@ 5,280

FAZIIAVER—S3>T—R
ZRT RS E=)L+)L— hOE—IL>TLY hORL—2 3 2(EYZ2C+ hSRFYLE)

(BEK] (MEE) 20,900M

1[g] 35,640M

5ME3—-X 178,200 — 133,100 (1[E 26,620M)
10EI0—X 356,400 — 240,900F (1[@ 24,090M)

[(AT>3>] A—R>OU—L 1B 3,630M

EN - RSEGRI—R
ARTRSE—IL->ILU ORL—232(EFZ2C)

(BESK] (MEsE) 10,930M

1] 18,7004

5E—2X 117,420 — 70,120/ (1@ 14,024M)
h—R>oU—nd 135,570/ — 82,220/ (1[E 16,444M)
10EI—X 234,850/ — 130,900F (1@ 13,090M)
h—R>oU—nft 271,150 — 155,100/ (1E 15,510M)
(2] (MERsE) 5,370M

16 12,700/

5EI—X 63,520 — 47,4901 (1@ 9,498M)
h—R>oU—nit 81,670 — 59,560M (1E 11,913M)
10EI—X 127,050/ — 85,300 (1B 8,530M)
h—R>oU—nfd 163,350/ — 109,500 (1B  10,950M3)
(M#E/ 5] (#E%lsE) 6,8508

1@ 16,170/

5EI—X 80,850 — 60,440 (1E 12,088M)
10EI—X 161,700 — 108,570/ (1@ 10,857M)

—FteismRy—hra—-2R
AAZHA(ESZIZC)>E—S5+1 MI>ZFEEH

(AEIREDH)
(2] 10,120/
(Bh] 13,200/
DJxaA>vIILbATZ3>) >—\vD
StLRN\vo 1 2,200
AT LTIV RD 1[G 2,200H
£A5-5>2<YXo 18 2,200
NE—RTFRYXo1E 3,300
DX St > A< X100 3,630

IL2bhOmb—>3>

183109 [BERMA/FOR/E/7 LT
/BRLE/EPT/EOCLE/MOCT]
(EFg=>C)

(#EHE) 5,170M

1[E] 5,500M

5EJ-X 23,370 (1B 4,675M)
10E3—-X 44,0001 (1[E 4,400M)
(EF=>C+ FSRFYLE)

(#DEFsE) 6,160M

1[g] 7,150M

5B|0—X 30,380M (1@ 6,077M)
10E3—X 57,200 (1@ 5,720M)
(EF=Z>C+ FSRFYALAE+TSEH)
(#DE4sE) 7,370M

1[g] 8,470M

5EO—-X 35,990 (1@ 7,199M)
10E3J—-X 67,760 (1@ 6,776M)

AAEA
1807107y (BAEHK/FOR/E/7 LT
/BRLE/BEPT/mOULE/MmOUT]
(E&=>C)

1@ 3,630/

5EO—X 15,7308 (1@ 3,146M)
10E0—X 30,140 (1[@ 3,014M)
(EF=>C+ FSRFYLE)

E] 5,280/

S5EO—X 23,100 (1E 4,620M)
10E3—X 44,880 (1@ 4,488M)

(EF=Z>C+ hSRFYLAER+T ST H)

1@ 6,600

5EJ—X 29,700M (1@ 5,940M)

10— 58,080 (1E 5,808M)

TSAISvI—

TS ARy TD— EF=ZCEAGE
[EaEK] (PEIRE) 13,750

1E] 22,000

5[] 82,500 (1[E16,500M)

10 110,000/ (1[E11,000/)
[(FOH/E]) 5,500

[AT 3> EAEH

Es=>C 1,650M

NSEESSIN 1,650M

TS5t 1,650

PORIT 7945 — 4,400M

REw IR 13,200/

R M w2 VISTA 24,200/

E7LO> B 13,2009

BENEV (BiEETF) 13,200/
E=ped i 24,200

S v )LEs 33,000

YA NHA>T—R5— 82,500

AGF 82,5004

23R 82,500M

TE=ANE-VD
+1A>EBA(EH=>C)
[BBZ/7 )L /EPLE/EFTF]
HUFLEETIOT —) LB
1@ 11,000/
5EJ—X 49,500/ (1E 9,900f3)
[(AT>3>]
=) 1[a] 4,400M
(BERAK/F TILT & DRBSHET)

RYB—JE-I/TSYIE-I
(BRid/F/8/7 L7 /EH]

(#ERE) 13,200M

1[G 16,500/

5[a] 66,000/

10[E] 110,000M

AFR0514)\—

[EERlE]

(EBE) 2,970M

1@ 4,180M

5@J—2X 18,920 (1[E 3,784M)

[AT>3a>ie]

1[9] 2,970M

5EJ—X 12,650 (1E 2,530M)
E—S5—1 kI

(#ERE) 3,850

1E 5,500

10EI—X 33,000/
—FEREH

118 2,640M

20=ET 5,830
EJ=[2]]]

S F A A4E90%E 6,600M

OFEBENAR 28H% 3,300M

b+ MFA=D - 18" 3)

QO BI=EMAR 28H% 4,400/

(bIVYEY « 330« MFA-D - I073)
Q=AY Y WAR 288H4% 5,500/

(5F4Y = 3F=0 « MFA=) - INT3)
@FHEB7F U RR 28895 6,600
F=l - MFA=N - N5 - MOHEY - 5F4Y)

(BAd+HiAg) 3.4.10



